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X+y+z=-3
e 1 1 1 1 ' . 9 5 2
| x vy z 3 .

xz(y+z)+ yz(z+x)+22(x+y)=—24

Sol:
xX+y+z=-3 O
l+l+_:l.=__1. (2)
x y z 3
: xz(y+z)+ yz(z+x) +22(x+ y) =-24 ) 3)

e 1
BEQIFE  yrt+xz+ Xy = -§xyz

BECRAF (+ty+)y+yzt+zx)-3xyz=-24
A xyz=12 ‘
yz+xz2+xy=—4 |

B AR SARE A HATE P +37 -4-12=0

(F=2)(+2)¢+3)=0 » FFA x> +y2+77 =17

2~ R K496 +8 sydng o
Sol:

6% +8% =(7-1)" +(7+1)"

= (7" - CEXTT X1+ + CE T XL +1)
(798 +CEXTT X4+ O XT X1 +1)
=49xQ0+2
HERELS 2



3 a=cx2ob=<3,y> Edx,y EAEH 2x +yt =T
2EabzERE
Sol:

.,-Z.sz/gx+2y sé(\/—B—x+2y)2S(3+4)(x2+y2)=72 nab<T

4~ E’Jé'wf(x)zx“-kpxz-kqxz+m+s%vg(x)=x“+ax3+bx2+cx+d'

CBE f-D<g-D 0 f(0)>g0) 0 fO<g® > FD)>e(?) -
R 2Ap-a)+(b-g)+(c-r)+(s-d)>0
Sol:

2 k)= fx)-gx)=(p-a)x’ +(@-b)x’ +(r—c)x+(s—4d)

k(=) <0, k(0)>0, k(1)<0, k(2)>0
FREAE ZARS B (-1,0),0,1),(1,2) EF]

S kIRBFASAA-1<a<0, 0<b<l, 1<c<2
Bl0<a+b+c<3, =3<ab+ac+bc<2, —2<abc<0

Ep0<b_q <3, —3<L =S <2, -2< d-5 g
p—a p—a p—a
0<278 p e 57 g,

p-a p—a p-a
B% k(0)>0, FfRA s>d, FFp>a
Bt 2Ap-a)+(b—-q)+(c-r+(s-d)>0

5. 4o ' DEFG 5EF » A~ HARAFG ~ GD ty+% » DA 4 ##GE ~ HE

FaZAE B Cr £ AB: BC:CD Z ittt -
Sol: | F

S AG:ED=1:2 2GB:BE=1:2 2 AB:BD=1:2

S.GH:HD =1:1 A
. L » <
. ' E B ; v
FEELCE ! 2__1_@____=C=1 C
o HG EB CD ‘
_133BC_. @ i
12CD

42 BC:CD=2:3 .'._AE:EE:EE=5:4:6



6. 4/ ABC %+ 4B =71 BC =8 AC =9 i8AABC #4973 I 4 DE//BC » # 3% AB ~
ACHE D L BEDE 2 & °
Sol:

HRyBEEERAEr s AR F Eps=%(7+8+9)=12

B AH %/ABC £ BC #&4% » F % AH #0 DE 2 % &

HE AR AABC =4/s(s—a)(s-b)(s—c) =~%% EXr

B AABC =./12(12-7)(12-8)(12-9) =12r
#2125 =12r r =5

XAABC-—‘—;»B -AH =

4%-_1.)_E=EC_’><—1_A£—.—.8><—2-=~1—-6-
AH 3 3

# DE zﬁr%%





